Regarding the spleen which of the following is.INCORRECTELY matched?

Select one:
O  a. White pulp Lymphoid nodules
O b.Red pulp Blood sinusoids
O c. Thymus dependent zone —- Billroth cords
O d. Germinal center Activated B lymphocytes
O e. Central arteriole —-— Periarterioal lymphoid sheath

Answer: ¢

Astrocytes are the largest of all glial cells, which of the following forms INCORRECT matc

Select one:

O

a. Protoplasmic astrocytes--——-gray matter
b. Protoplasmic astrocytes--——-----thick cellular processes
c. Fibrous astrocyteS——e-seeeeeee-white matter

d. Fibrous astrocytes——- rounded cell bodies
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Answer:d

Pericytes of capillaries perform the following function ?

Select one: |
O a. Provide smooth surface for blood flow through caplllaries

O b. Regulation of blood flow through capillaries

(l} c. Can differentiate into elastic libers

() . Provide nutrition to caplllaries wall

s

e [nhibit clot tormation within capillan

1l m

. Answer; b L | T
i T | " M

| ‘
N I {f
LT Il L
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Which pairing is INCORRECT?

z
Select one:

O a.Betacells/ Insulin

O b.Aphacells/Glucagon |

O c. Parotid / Saliva O
i O d Pancreatic acinar cells/Somatostatln

g e.‘F cells / Pancreatic polygeptide

e T

Answer

= [ Il i | |
: | | i I | :
o ﬂh?’ ‘llhhm esophadus

“h

= —— | IF of the muscularis MUcosa o

=YC = nl-\ Aacrrintian ie TR
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of all glial cells, which of the following forms INCORRECT mat

Astrocytes are the lérge§t

strocytes———gray matter

‘éthj@kcﬁel\u}ér processes

— unemater

O d. Fibrous astiocytes———————rounded cell bodies

perivascular foot processes

e Protoplasmic astrocytes-

Answer:d
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One of the following is TRUE about myofilaments and sarcomere

Select one:
O  a. Troponin lies in the groove of the spiral within the actin filaments

O

O 0 O

b. The myosin molecule has a head and a tail

c. The average length of a sarcomere is about 2.5 pm during contraction
dA- bwd becomes narrower during contraction

e. | - band stays the same during contraction

Answer: b
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Which of the following is |NCORREb tr.Y matched?

“‘H"' ‘lw EARSNANR

Select one: N '»“'.q"'g,l"|.\“,.~|‘M A
“\l\"‘ ' |, I |

O a.Dorsal root ganglla-‘-"-’-“-‘-"-L-%r"uo synapﬂc connect\ons

il l I |
O  b. Dorsal root gangha-—-&-—-—--x-aftqt'eht ';‘.ensory Impu\ses
’|“\'\\ “\1‘“1‘
® v« Autonomlc gangha-.-;-l-—-mulhpblér neurons
|‘ \ ‘. | ' ‘ ‘l l“'
O d. Autonomic ganqlla--------fewm sale\hte cells
O N

e Dorsal root gangha--‘; ————— -—unmyennated nerve fibers

|

Answer:e
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| ."h I'M | | b. Myel ' n’ t’ec}llrenlle fber
# ;'! i MR T
“‘ | ’i c‘qﬁﬂwyﬁlrn#tgﬂd nerve fcber . ',.I
| ‘\ 'i; I AR |‘.‘ i ‘l',vllv'll"‘ﬂ“
' " d. Se‘nspry nerve fbre .I'l
I L 1! 1“ “ ‘W
it . Postganglionic nerve fiber )
‘\ | l‘ ”l‘ “ |1l “\‘1‘”"'
:i ‘ ‘ | } ‘ ’ | " | ‘}“\ "‘ llll"J ."/l'l.l' !
| | ‘I I,’“I‘w“ | “I\“‘l“‘ﬂ
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Characteristk': of the olfactory eplthellum lnclude WhICh of the following?

|| | [ | " | “ | I L
| ll (| I I' L LAl i : -;‘7 == ,'
Selept one I fi : '

| ,O‘ ‘a Located on the inferior conchae of the nasal cavity

“1‘ |
‘ \

O b Classified as simple columnar

O | c. Has an underlying lamina propria containing mucous glands

(O | d. Is unable to regenerate

U]
| |

O e. Has Bipolar neurons with modified cilia

|
| [F . |
| | iy i i - - it

| -

Answer: e e

n*?n Unr —and sarconiere:

One of the following is TRug’épg‘a it o

Scanne d with CamScanner



|

econdary (penpheral) lymphoid organs?

et
sTRUE of[all s
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Small cel’ls fl?sely associated with neurons in penpheral gangha may be called?

== i
Select one: H | : =—— il  '|.|, I
O a Pos’tgangllonlc cells . ==y ’,",":fn'[""|","1'!|ﬂ"'.’-"‘.{'l.'
Ol b. P‘yr gmldal cells i |.||’, ,\"|".l',"|l'|"".l|,"',r‘:’."jgl':;
® Bl Preganglioniccells - i ‘,"' u’“.",li'/'k"vl ,'f‘,ll"‘.» |
O  d. Autonomic cells kit

O . Satellite cells

Answer: e
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_:a—SubhngualgIénds - Abundant myoepithellal cells

;_ %amﬂd g1ands éSerous demllune**

-:O 'c Submandlbular" gvlg d::

_ﬂ{'),;

: Mlxecksallvaryglands

l

O —d.Von Ebnergzands"’ = _'g':umv_a@’-é papilae -~

I

—

Sic saliva

== u;_e ngualg!ands --———;1ntri V r_yglands =
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C- Shaped cartilage is characteristic feature of the wall of which structure’

Select one:
O a.Alveolar duct

O  b. Bronchus

O  c¢. Bronchiole
O  d. Trachea
o

e. Terminal bronchiole

Answer: d
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:::;_—;g_j__mg_ 7 ||owmg is CORREQTLY“rqaltlchgd? ‘

- ———— =, ALY

féi:;le?_f = g»_' R AUIN

~_O —a: Cardiac musc\e | sate\hte cells',|l|‘]1 1;“ l

__-_ _:__tf__ Cardiac musc\e on\y one nudeds |x.| |

-Q C. Skeleta\ muscle ....... branched ﬂbers.l i |
o “d. Smooth muscle ..... ...caveolae ) i |

'; Q . Smooth muscle.......NO ﬂ\amems ""."" l‘ i

i

\l |

|
:Y!

||‘

PREY )

= Answer: d

) :“*u“l,,
s 'A‘vhl'wl\ull” |
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Answer: e
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~ Selectone: —

C e. Smooth muscle '

O Mucous glands ln the Iamma propna

Answer: b
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One of the followings is INCORRECTLY matched?

Select one:
O  a. Bipolar neurons-— cochlear nerves

O b. Unipolar neurons-—— afferent neurons
O c. Bipolar neurons—- present in the CNS
O=—d Bipolar neuror{s—- one axon

T e. Intermediate neurons— present in the CNS

Answer:c
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i ﬂ:".“m'“‘r"“ l,\h‘.‘w"‘r'.’\h".ll"",u‘.IM” M rlwll\"\ TR
b|0bd\ba ries | H LJ | H}%'\' b, e”'INCORRECT statement?

i ‘J.‘“‘Hl l",‘ul"'l"’ ”‘ " M " 1‘ r ||' |I “I[) “ u u | l| I l | l
i n' |rrl¢|'|'|}|0'l‘|' rI‘U"'I ; |"I‘rl 'llllr " r'r) .‘ | || '|"r |' ' [ || ‘I i 5‘ |‘r r
‘ Se|eCt one ||‘"||"l I“lr'"lwll I ‘ H’M’::N“ ‘l"l'{ rl(“ "I‘I n\'l .‘ |’ “ ' I | l li‘ [ |“r |‘|‘r‘ AR
il '~"‘.u pese fl I||I| it i | r I | Il r‘ L Ir‘ "r’ et
@ Ia Capillanes are, presént all-pVEﬂ ’the lD.Odyl".'r"",'."g'
. ‘ r 1"1' ol il r‘r |' r‘{ RN ’w'r"‘ r||l"|"r‘
Qe ;b Smusbrds .have',",,WiHe rrregular IUrqen ALK AR
Hw i W i ' [ 1‘:\ '.‘|‘ '1‘4 ‘r‘r“r r"‘ e I e
O e, Srnusoids are‘lrned by contrnuous ehdothelié\ cells,
‘r I r Il I‘.lrllr"‘r"r "“'r i
. v, Caprllarres are surrounded by pencytes W, 4y
: ‘ e €. Slnusoids allow blg molecules and Ce“s to r)ass easr\y through their v
‘ | I‘ | M i

|
| | |/
| -

AnsWer: C



ramean s LI
'l }""ll‘l"ll‘liﬁ !l‘"}: l||1' "‘ i \srw | 1“

SdeCtlon‘e 'l“||'”,'_||.'|\"\‘ I'M' M‘ | |1 i
14O fay Modlféd smo 'tﬁ 'mu ééles Ik ricd media of arterioles
‘I'b Egat{‘)t'heilllal éé"lls cllhn'{a .]‘ ?ylatherosclerotlc lesions

'|I||H||‘|’||||'|l‘ (

'c Macrophagesnngestmé\ Iplqs in the' suber*dotheluum of arteries
I (1]

_ d. Flbroblasts in tumca advgntntla of artenes to prevent over distention
O T
el Methothellal cells ||n|ng of th‘e blood smus0|ds

l""“.'. Db AT

g AQ‘O

Answer: c
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Answer: a
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W 1 | ""‘ |'||'! 1’1 ""'|'|'| M ""lu

1T M
|'|| ‘|||| 'l ||l' “l '|
'|, ‘ “1 ‘lll‘ ( |||. " |

o *
O
®

{
d Few lysosomal ¢ elements

e.‘A highly‘ordered cy,tg‘ske\eto

Answer:

l '
‘I | || l": f | "",l [ |I l'| hy | |“'| (" ‘vi.,"“l
(R L TR AN R
S l ‘ | | 'll '|. I 'I“ |l|I iy )|{l|. I.ll'l‘l'rv 'l'l,."" ‘I"u,u. I' ) |'I‘|" "- ..I"'l‘;:" ‘, ‘,».‘,j:',.‘
‘| [/f “ul' Bl My i ey Y
| ‘ : ||||||‘ m 0||||“‘ My, "‘.I.I' ""'vl' 'u.l_." il
| ll " [ | ‘i. | |“ “,"

\
#b A paupllty of rough endop\asm\c

I' ll' l"l‘l'ﬂy i1

In general,mqurbns have.— M A,

retmulu‘rh

| C. rA poorly organlzed mlcrotubu\es network 3 1.1‘

n to pmvnde mtema\ support
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After their maturation in the thymus and release into the circulation, T lymphocytes migrate to which of the folowing

Select one:
O  a. Paracortex of lymph nodes
O  b. Hilum of lymph nodes
O  c. Medullary cords of the tonsils
O

d. Splenic sinuses

O

e. MALT of the intestinai iract

Answer: A
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V. The type of eplthehumassociated wnh the vermillon zoneofthelipis __ ?

Select one: ] ‘
| ,O a. Stratiﬁed squamous non-keratmlzed
b Pseudostratuﬁed cmated columnar
() Stra%ed squamous keratinized

d Stratlf ed cubmdal

oo oo

e Stratlﬁed columnar

Answer: c
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=0 d BfﬂnChl Sﬂﬁp _: nar-e _1 ehum_lm%ﬁ Gl =" _=

o Q . Bronchxoles - Lﬁ%é D;:é%mgf fgﬂ\____ g-%_ _%:: ;ZE:- = _

AnsWer: d
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b R “j!"fl "l "’ i ”;"huf i 'Jt;‘l "}'h ‘| ‘l ‘. A
Which of the following stateh)é tﬁl bo e érnlng termma\ bronchioles is TRUE?
|. " IH' I‘ ,“', | L l ) |

| it '|‘ : i
Select one: A i L
O a. They are part of the conductmg portion of the resp\ratory system

i

Y
I, i i
,;,‘|

b. They function in gas exchange ,’ y-;j ‘f o

c. They do not contain ciliated ce\\s m thelr hn\ng ep\the\\um

d. They have cartilage plates present m the\r wa\\

ol e ko)

e. They dqyot contain Clara cells

Answer: a
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g \ll"'ﬂl”l"'lln

ll\l t' |l\||l\]" |t
,Conbém\ | ﬁ { ‘L;?illarles one of these statements is TRUE?
| )H" i
l

e

g

| xQ - a. Lymphatic capll‘la iq:s paye narrower diameter than blood capillaries
O ! ~p L.y.Pnp atlé' oalpl\llﬂrl?s‘ are Ilrjwed by simple cubical epithelium resting on =
O 1€ . Lymp‘mtlo blapili?rl'es ar‘é blind ended
]C)‘ | I‘d Lym?nallc caplll‘a‘r‘lésare surroanded by pericytes
O e Ly)thlalt'ic, ,cnpllla||c=s are sw‘}ounded by Littoral cells
Dl I

‘zl.‘| 'i""'l LA |‘ ‘vll I’||1“|Il|”‘\’ "‘

[ |
Answei‘: C| || K |‘ ‘ I M | ‘
| BEEREERRR R RRTS ‘\""
'I'l‘“' ||““; |'”‘.,‘\
w\l' |“" '

L | “
I Il-/\L |"‘l“l‘ |‘ l“l‘”ll’ ' I’||| \
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LR Mhl H“I"H Hl” il .M"' !l
Which of the‘ fol|'owing|is foux'x r l ( tter of |?entral nervous system?
A O ||| | | | 1‘ ‘
‘.'l N I|I‘ ' |' I l 1’||||||||||‘||‘.‘H s H ‘IHH. [
Select one: "l.l'lf "'Ilhmu.” ‘ ’IH Hi (AR
O aGarl\llfon"“"”""| '. | ‘ “ |“" 11/
‘ g 'IJnull ||’|\} ’IMHM [T
‘ il gl I ' | | TR AN
O bNerve. iy I|||, ""‘ '\ l\l IM ||‘ |'|’>|'|'Hr| .
Il il il 'I (| ! I I‘| { | ‘ |
£ 4'c; Tract l || '| ' |' [ ||l*|,‘|' w H ' Bt |‘,., ki
L |l‘ ”| H '|"|||“ llml||||l lh‘n'. o
O d SChwahn Ce“ ( HI ‘|'|' “' Ht ‘l”|'||'|I!||||III'|||’."il'”I
‘ | | || 'H N II
J @I Nuclel “ | ' llH ""\' 'I'”( i | ||l 1 |l'|m'll"' i it
e e It ‘,. ||" | ' "' I H’HH ||vl||“ lll
|'y‘Answerf:c i M g ‘ it i |'I I 'llll“l“ IIH'I'”
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?—W . I  .' w‘\“‘ NN |
WL
*Followmg |n1ury of an axon, the perfkary‘/o"\ quergoes which off the following changes?

‘ T
",':'77” f “ '|‘ ‘ il \’ |1 \H‘H\‘ [T ‘ |
~Select one: . | l’”“'l i ‘V'll“l\ ‘“' Ty
== [ I
"’O aThesomashnnks | ‘-]"““ u|" Ml'\ AR
| | I\H | | H“‘ 11k i ‘w‘ | ]
- O" b. Niss| bodies are mcreased | “‘.‘ ) MY
; | ALY “m “
O c. The nucleus moves to the periphely AHELH RGN
: | |4 | ! ‘i',““’ b I
O d. The nucleus becomes smaller | L
[ I i1 |,\ | \“\w“ A I
O -e. Nissl bodies appears inaxons | ||| {1111 L
3 3 ] : ‘ | | [ ‘\ \ ‘I\“
AR RIS AR

Answer: c



& Rough endoplasmic T
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All of the following are components of sensory ganglia EXCEPT?

Select one:
) a.Axons

) b. Synapses
() c. Perikarya
() d. Loose connective tissue

() e. Satellite or Schwann cells

Answer: b
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SR T DS
i \\MH';" |
Selectone: ||| | ‘l[ | : ! 'I'\ m \'|'l‘4;|||'ll '|:"‘}\1‘y'.'l"
'O a.Trachea ““'1‘“'| 'l‘l‘1'| i '|‘|',\'||‘.!|'lxll||\l'x,'|'|"';'a(',l'l 0.
b. Intrapulmonary‘ Iltal‘l'lcglrI\I('l:lI']d;“,',":'!‘|’|I‘,-j||'|‘|f' I
c. Bronchioles | 1 "! "' I-ﬁll‘!;"'x,'l;l'.;.: ‘

@)
O 7' d. Termlnal bronchloles 'I :
Q e. ﬁgsplratory bronchloles‘ i

= = LA}

Answer: b
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 Triads-in-skeletal muscle cons of the following?

“G o Two T-tUblles and one erminal istema

(

O - e. T-tub ule-a-terminal cisterha anc

Answer:c



i l || Il “ ”” |ll||I”|I|‘ ” !
Which of the LT !
‘;‘ v followin‘g I.S‘ INC?ER‘ W ‘re'ga_rdmg myellnated and unmyelinated nbres’? .
) i |,‘|4 |i|x|||lg||‘\
Selectone: | | ." L A
l | M||! ‘||“|| "‘» H'

WO v a. Myellnated axons do| rl\ot ldsuauy enter gray matter

|

b. Unmyellnated axons genera\ly have a smauer diameter than myelinated axons

II |)‘ i

C. Unmyehnated axons conduct more slowty than myelinated axons

d. Action potenttals travel a!qng myehnated axons and unmyelinated axons

' e Non myelmated newes are found m both the CNS and PNS

Idif
N | | i w, n4 |
\

ki

‘I ‘bl | I
UM ‘..' I

|
\ 1 ' “l

i i|| .l‘i|:‘\ |||||‘|, '1\ "|' .
e i .u.,l; .hu'}lr: me iﬂpn 0‘ Lnf “tl c.” \'\Pl\’u\l

o '~I”U'

>

Answer:d
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I

g: daptation of blood vessels to perform.their functions, one is NOT CORRECT?

b["t

|

|

| ’

clectone:
a. The endothettum prowdes smooth surface for blood flow
n and relaxation

1LY

(D

i; Smooth musole cells regulate the blood flow by contractio
ssel to the surrounding tissues

|
H|||

|,

essels

Olh'h'q l"'%“lf'h"ﬂ!!“ ;&.!

= The adventma connects the ve
E’; stic lamina allow expansion during systole
sels that supply the intima of large v

5 3 vasora are small ves

,5' 7 Ly

‘4MJ&“”'
R

|
”I

“H»‘m d_lt

N

i
N

|

NN ;
ﬂ‘ttt<g;:)‘

I
LY
LT

1l
\\m\“

tu J;'
-
0

o
=
o

h of the following”

le CONS sist (Jf '."Jl.l.\(;

i can im-keletal MUSC




_O =, a Possess eplthelim 1nvag|nat|ons |n the form of crypts — 5

?_ O c Produce Iymphocytes 1hat assst m ﬂghtmg antlgens entenng Vi a_ the oral and nasa\ routes

;O d. They have prlmary and secondary lymphanc nq:gules = =
= O_ e. Are SItuated along the course of !y:E pha’nc vesse\s = __" e

Answer: e
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ZV\{hlc‘;ITtW(Lf “{ f‘3’"°W""9 are typlcally necessary to stimulate B- lymphocyte to divide and

,,..

Select one: = A atL
—0 a. Plasma celllantlbody |

O  b. Helper T lymphocyte / antigéh

O c. Cytokine / immmunoglobulin
O d. MemoryTIympthItelcytokme
O e CytotoxncTIymphocwe/ antigen

e T

Answer: b ]

ine largést cell bodies in the dorsal (posterior ) horn of the spinal cord belona+
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Which of the foudwing is NcoI'RRECTLY' matched?

it _i|‘;| 'H ‘.|j|l‘,']”',|"'l""""xl'
‘Selectone: ' l,.'jl',.‘u;.l i .’ i
Q. &, Dorsal root gangha-----—r}o synaptlc connections
Q -'bl Dorsal root ganglia--l——-—afferent sensory impulses
0 Autonomic ganglla-—--—-;a-multlpolar neurons
Q' d. Autonomlc gangha--;-—--fewer satellite cells
O e Dorsal root gangha—-—---unmyehnated nerve fibers
ik || L

Answer:e

& a. Motor axon i1l
b. ASIIOCYIes. 1

Gl r:«-:m-.-;...m-«;ui.u e endonaurium

Answer: b
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A 'I ﬁl ":!'l.

Mz

Ivés to regulate the dlrectlon of bloed ﬂow_ = __-A ‘__'-_ :

"

Answer: ¢
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T
Choose the CORRECT statemérlt le?ardlng Metarterioles?
| M \
bt I
Select one: ‘{ | |‘|‘ | y |
|

) ‘a Functlon% control b’ood flow mto arterioles

O b. Receive blood from thorougkfare channels

|
|

c. Possess precapillary sphlnctérs

d. Possess valves to regulate the direction of blood flow

O O O

e. Possess a complete layer of smooth muscle cells in their tunica media
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